
2 .  1s A  =  la, l b ,  ; bj,  ( a ,  b)], B  =  lb, cj  ‘Ww^‘dla~lil&kl~?l

1) c E A 2) [b]  E A

3) (b, a) E A 4) (b]  E B

d1mu  tie  Go 2 )

awgwa  & 1) tGG%4~~LL~-d”ail  c lajb0uaui3nuos  A

?% 3) (a, b) #  (b,  a)

<El 4) b E B LNi  (bj  E A
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A U B  =’  B AUB = A = B

18 A = 2, 3,(1, 41, B = (2, 4, 6, 8, 101 LW C = (1, 3, 5, 71
wI=haufhniuu”a  4 uwih  5

4. q.JHl  C - ( A U B )

1)  12,  4, 6,  8,  10) 2 ) 11, 3, 5, 7J

3) t5,  71 4 ) c 1

fhS%J &I #PI  8 )

IWq6J&l  A U B  = [l, 2, 3, 4, 6, 8, 101

C - ( A U B )  =  ( 5 ,  71

5. WY11 (CnB)-A

01  1 2 ) Il. 2,  3,  41

3) [5,  6,  7, 8,  10) 4 ) (2, 4, 6, 8,  10)

fhmnr G-i &I 1)

lwp CnB  = ( )

(CnB)-A  = [ ] - (1, 2, 3, 4j  = [ ]

6. ~Dhh&4

1) 5-I  x < 1 L&d  x2  < 1 2) l- * (P * q)

3) 2+2 # 6 LlR:: 3+3 = 5 4 ) 5 > 6 n% 3 < 4

fhm  %I  co 4 )

mvpJP  5 > 6 nio 3 < 4

F  #“rO  T  th T
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thtu’o  1 )  thx  =  - 2 ,  - 2  < 1  trei(-2)*  > 1

$0 2) Hldlfn1U~~Gi~  4 nxii r%.Mnr~3~~n  7 ndi (tautology)

$63  3) T WC F th F

7 .  tm(p/\q)  * r LilUQ3~LLAi  oJfi~l~nrlilu'ol~~w

1) p t&4  T, q th  F, r tfh  F 2) p !.h F, q tih F, I th  T

3) p th  T, q t&t  T, r LilU F 4) p tfh4 F, q th T, r t!h  T

fhm¶J tie  Ge  3 )

rwgwa (Pw) *  r

T F

yJ
F

8. Zl;;tlQt?ointilutsle~~~~l~~~~~~~~~ Ghimliiu”oIqn

1) 3x P(x) do  P(x) LLYIPI  x 6  0 2) vx P(x) do  P(x) LLWU  x 2  0

3) 3x P(x) tdo  P(x) LL7lI.t  2x+6 = 0 4) vx P(x) do  P(x) LLWU  x2 -2x+ 1 = 0

n’1ms¶J  ab u’s 2 )

6mqwa tw72-p 3 nuiQno$u$itmia  ttnu P(X)  ttk%iblG  P(X) tClpbil?s

h& 1) biauiin2*~ < 0

&3)Mx=  - 3  ttd-34  I’

ihikl4)  x2-2x+  1 =  0

(x-1)2.  =  0

X = 1

9 .  iri  P(X)  ttm.4  [XIX  thiiu7utfiu ttc x2+  1 =  0) t&-d P(X)  8atmlsl

1) I-1, 11 2) I - 1 1

3) 111 4)t  I

dmiu ?la  u’o  4 )

6wvpa  tw3x-h  x2+  1 =  0 ,  x  = 4T



1 7 2

10. % A = 11, 2, 31, B = 12, 4j 99Hl BxA

1) ((1, 2), (1, 4), (2, 2,  (2, 4), (3,  a, (3,  4)l

2) ((2, 11,  (2, 2), (2, 3), (4,  l), (4,  2)> (4,  3)l

3)I  1
4) ((1, 2), (1, 4). (2. 4)j
fhla¶J  8s  4s 2 )

1) aRb

3) iRc

hmJ  ds  u’a 4 )

2) bRa

4) cRi

13 . Iii A = {l, 2, 3, 41, B = [l, 4, 6, 8, 10, 121 T&lb%Tdl%J&Jw'Prd 2 lYil1ln A

Id B

1) ((2, 4, 1, (3, 6)9 (4, 8)1 2) 1(4,  2), (6, 3), (8, 4))

3) ((2, l), (4, 2), (6, 3), (8, 4)) 4) k2,  l)j

filWbll  &I  (is 4 )



14. a%?  A  = [I,  21, B = 12, 3, 41  d-d  F wddUfiJ~~UV1f1  B Id A hk~hl

1)  I(19  2),  (2,  4)) 2) Iu,  3), (2, 4))

3 )  k3, 2), (4. 01 4) ((2, 1).  (3, 01

15. %$A  = (1, 3, 5, 7, 91,  B = I- l,O, 1, 5, 8, 101  LLI: F = [(l, 5), (0, 9), (8, 7). (- 1, 3))

w%ian47iGabqn

I) F( - 1) = 3 ‘2) F(9) = 0

3) F lith.dJ6~~~lfl  A Iti  B 4) F LihflW&JYii&iWl  A Id B

dwwlll  d e  &I  1 )

16.

1) (aoc)  o  a =z  b

3) b o  (ma)  ==  a

dlmnl  %I  &I 2 )

2) (cob) o  (sob)  =  c

4) ((coa)  o  b] o  a = a

an9pa  (cob)  o(aob)  = aoa (8lTl8\lTlJ)

C



20. $1 -4(3-x) 2 12 LLtY-d  x Qy'larhl~

1) x < 6 2) x > 6

3) x < 0 4) x > 0

dlmnJ  b%  v’e  1 )

Lwpl .: -4(3-x) < 12

3 - x > -3

-x > -6

xc6

21. Wl1filx IdO 1--2x+51 < 7

1 )  -6<x< 1

3) -6<x< - 1

fhml da 4a 2 )

2 )  - 1  <x<6

4)l <x<6



qwa /-2x+51  < 7 MuluziJ

(1) - 2 x + 5  <  I

- 2 x < 2

x > - 1

LW

(2) - ( - 2 x + 5 )  <  7

-2xt5 > -1

- 2 x > - 1 2

x <6

&&.b tTWWhflQU i% ( 1 )  f-I  ( 2 )  =  (xl  - l<x<6]

22.  1l.i  A = (--7, 111,  B = [0, 13) LL&99p91  B-A

1) ( - 7 ,  0) 2) (7, 21
3) (11,  13) 4) 111,  13)
dlWsPl 40 u'a 3)

lwp lflul%~uBlu?u

- 7 0 11 13

23. 8111 (3, 1, 5 ) - x = 2(4, - 3 , 2) WY\1 x

1) (-5.7, 1) 2) (5, -7, 1)

3) C-5,  -7, 1) 4) (5, -7, -1)

d1mu iib u's 1)

In~Wa LW1X-h  (3, 1,5)-x = 2(4,  -3, 2)

-x = (8, -64) - (3, 1, 5)

= (5, -7, -1)

&& X = (-5.7.1)
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24. 816P  = (-  1, - 3) blRZ  6Q = (-  2, 5) L&d  6CQ  hkh

1) C-1, 2) 2) C-1, 8)

3 )  (1,  -8) 4) (-392)

dwleu  &I &I 4 )

KwyKl  Lwaxil 6b = -6 = ( - 1 ,  - 3 )

5 = (1, 3)

ad FQ = l% + 6Q

=  ( - 1 ,  - 3 )  +  ( - 2 ,  5 )

=  ( - 3 . 2 )

25. \%ti bLRr&  YpblW%4  ~~ud~arwlJ~~wlJbtera~~~  = (6, - 1,3)  LLA:.ti  UT-J

lh3 LtilY~J~  WMlt?D

1) (18,  -3, 9) 2) (-18, 3, -9)

3) (2, - +,  1) 4 )  ( - 2 ,  $3  -1)

hmJ  de &J  3)

anqwa  LWSlrh ZB = 3(s)

c’ = ;(ti)

= $6, - 1, 3 )

= (2, - ;, !)

2 6 .  ~11~~AlU9lOJI~MB1JL#UYlffJ  ti0 ( - 7 ,  2 )  Lh3~j’@lifJTlk3lJ ii0 ( 1 ,  0 )  L&-d 3JWl

Tnoo;frHQuoJ~n~aluiinvSlJndJ

1) (9,  - 2 ) 2) (-3, 1)

3) (5, -2) 4) C-6, 2)
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k Y)  = 2(1, 0) - ( -7,  2)

= (2, 0) - (-7, 2)

= (9, -2)

28. ~JwlRunl~t~~maJfteiltaln  (1, -4) bLRr  (-3, 5)

1 )  -9x+4y+7  = 0 2 )  9x+4y+7  =  0

3 )  x+4y-17  =  0 4 )  x-4y+17  = 0

hle¶J  38 %I  2 )

9ingm-i Y-Y1  = +I$  (x-x , )
2 1

rtnud1qma  : y+4  = 25 (x- 1)

9x+4y+7  =  0
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16 -lJx +bY= y-

30 .  PJWI x - i n t e r c e p t  ll0.!b&.b~~fdd~XJTl7~  2y = 3x-6

1) (2, 0) 2) C-2,  0)

3) (0, - 3) 4) (0, 3)

i1mu i&l 48 1)

at4qr-m  pl\vp&w.unu x  bcwt%Y  y =  0

31. 51 da $~b&eilvoa X , y. 2 6118Jil6U

1) 6, 2, 2 2)  -6 ,  2 ,  - 2

3) - 6 , 4, - 2 4) 6, -4, 2

UA: 37.  = x

X 6
z = -- = -2

7= 3
.  F;IWIJ x ,  y,  z ~lu~l&J  %I -6,4,  - 2.

32. WMlLW6-d 2A+  ;B-C L&I

A = [: :], B = [-i -l;],  C = [-;

4 - 1

1) I4 0I
3) I5 - 1

2 0 1
2)

4)

0

6 1
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fiwls¶J  &I u’s  4 )

awqkla  LWnAl

2A+;B-C  = 21: :I + :I -: x 11

8 7 6
1) I 2 4 : ’2 10 51

2) : 2 2 8 --2 10 10 -3 0 5 1
1” -’ 6 1

3,  I2 -2 3 I 4) HI  BA b%i

8+0  4+6  -4+4

=

2+0  1+9 -1+6
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35.

8 1 0 0

= [ 2 -2
2 10

-3 15

t7-i A =

a&a LUC  a d - b c  + 0

12-1

&h%det(A) H% (A( &A = I 3 1  0 102 4

1) 34 2) 26

3) -26 4) -34

fi1mlJ iI0 &I 3)
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qPta IAl = 1(4-O)  - 3(8+2)

= 4-30 = -26

36. hW@~unl~

x+2y-2  = 3

3x+y = 6

2x+y = 1

F)ln  Cramer’s Rule

Dx = D,

Dy = D,

LLR’. Dz = D,

?%blffQ Dx, Dy  @-IxJ~I&I

1) -5, -9 2) -5,9

3) -6. 15 4) 6, -15

dlmm  W8  u”Fl  2 )

qsla 3 2-l

Dx=  61 0

11 0

= -1(6-l)  =  - 5

1 3 - l

Dy = 3 6 0 = -1(3-12)

21 0

= 9

37. WWJnl~~U~O 36 ihb%ldlx,y,z  a\l%.Jil&J

1) -5, -9, 16'  2) 5, -9, 10

3) 5, -9, -16 4) -5, -9, -10

hwlu Wa  46 3 )

y= PAD ’  z= D3-
D
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12-I

D= 31 0

21 0

= -1(3-2) = -1

‘T-t=. . -5  5-1 =

9
y’-1=-9

1 2 3

z = 4 - - 3 1 6D
2 1 1

- 1

39. oJHldlVoJ  $‘PJ  - 2(5C,)
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1 ) 40 2) 20

3) 1 5 4) 10

dwe¶J de $0 4 )

awpl ;cP3)  - 2(5C,) = i(g)  - q3s!)

= ;(5X4x3)  - 2(T)



3) "
5!3!

4) S! 2!
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= 6!2!
s! +++,

= 37

47. WHILWQ~JW~ 3 Iunisnamu (~+2y~)~

I) 12x*ya 2) 12x4yz

3) 24x2y' 4) 24x4y2

dlvlmJ  i78 $8 3)

qera  ~w-nt-h bma~Wd3  = (~)&P

= i;,  (2yZ)W

4!
= 2!2!

- x 4y4xz

1L
= 24x2y4

48. WHI n(S) I!0 n(S) 60 ilPraeba81l%nsrQsr6~~~~~a~~~  (sample space)

1) 9 2) 8

3) 6 4) 3

hlenr la u'e 2)
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1) ;

3) f

2) $

4) $

p(E,)  = ng = ; = 4’



+ 
+

I
G

G
m

lrn
$

3
 

+
a

-II-4

II 
II

/I



lim x= - x -- 6 = lim (x--3)(x+2)
7. ? x+2 7 .-2 x+2

=  l i m x - 31.-z

= -2-3

= -5

56.  5l9p9lFilllQ9  Jim 4x1-2x2+5x-6
\.c= 7xd+4x'-5x=-4x+3

lim 4x4-2x2+5x-6
\ '- 7x4 + 4x' - 5x2 - 4x + 3

4-2+1-!i

= lim x2  x3  x4
x<-

4=
T

57. 51 f(x) = 4x+3x2-2x3  U&  &b&l f’(x) MiO  -$[f(x)]

1) 4+6x+6x2 2) 6x + 6x2

3) 4+6x+6x2 4) 4+6x-6x2

hwu fa u'a 4)

anqeta f ’ ( x )  =  4  +6x-6x2

58. 81 y = (x2+4x)(x- 1) r&d y' H?Q 2 &I -h-h

1) 3x2+6x-4 2) 3x2+6x+4

3) 3x2+2x-4 4) 3x2-2x+4
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x2+2x(.-4__~
l) (x- 11y 2)

2x2 -2x+4
(x - 1y

1mqwl
(x- l)&(xZ+4x)  - (XZ+4X)&(X-  1)

y’ = -
(x - 1)2

= (x-1)(2x+4) - (x2+4x)
(x - 1)2

x2-2x-4=
(x - 1y

60. %lH1d19109 f (3x*  - 2x + 1)dx

1) 8 2 ) 5

3 ) 4 4 ) 2

fhmu  tie  u’e  2 )

3 x2  2
x2-2x+  1)dx = 3%  -2_ fx

1

= (23-22+2)  - (l-1+1)

= 8-4+2-l

= 5


